Math 2 with Support





 
               Name __________________
Test Review – Circles and Spheres
SHOW ALL WORK OR RECEIVE NO CREDIT!
MM2G3.c. 

Use the properties of circles to solve problems involving the length of an arc and the area of a sector.

Find the area and circumference.
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Find the length of the given arc.
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Find the area of the shaded region.

5.             110o
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 6.                   C                        AB = 6 cm











              AC = 13 cm

              6.7 ft                 






       A               B
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____________7. What is the radius of the circle with arc length of 45 ft and central angle of 65o? 
____________8. What is the radius of a circle with area 342
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 square meters? 

_____________9.  What is the area of a sector of a circle whose central angle is 75° and radius is 6 m?

____________10.  If a pizza diameter is 24 inches and the pizza is divided into 10 equal pieces, what is the area of one piece of pizza?


MM2G4.a. 

Use and apply surface area and volume of a sphere.

1.  Find the surface area and volume of the sphere.





            




r = 9


Surface area = __________________








Volume =  _____________________

2.  Find the volume of the sphere. 


(A)  2540 mm3
(B)  3487 mm3



(C)  3183 mm3



(D)  1110 mm3

3.  If the volume of a sphere is 36
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cm

, what is the length of the radius?




(A)  3 cm

(B)  4 cm

(C)  5 cm

(D)  6 cm

____________4. What is the exact volume of a sphere with radius 4 cm?


____________5  What is the radius of a sphere with volume 4500
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 cm3.


____________6.  If a sphere has a diameter of 16 cm, what is the exact surface area of the sphere?
____________7.  Before a basketball gets filled with air, the shell of the basketball must be created.  Suppose the surface area of the basketball, or the shell that must be created, is 36
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.  How much volume will the basketball have once it is filled with air? 


MM2G4.b. 

Determine the effect on surface area and volume of changing the radius or diameter of a sphere.
1.   Does the surface area of a sphere double when the radius is doubled from 3 to 6?  Show the work that justifies your answer. 

2.  Does the volume of a sphere double when the radius is doubled from 2 to 4?  Show the work that justifies your answer.

3.  The radius of a sphere is 4 inches.  Explain how the surface area changes if the radius is cut in half.
4. The radius of a sphere is 2 inches.  Explain how the volume changes if the radius is cut in half.
Review Answer Key

	1. Diameter= 30, so radius= 15

    Area= 
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3. Arc length
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   Diameter= 10, so Radius= 5

    length= 
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5. Sector Area
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6. Area of big circle: 
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7. Arc length
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   Diameter=24, so Radius=12
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	1. Surface Area= 
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2. Diameter= 18.8,so Radius= 9.4

   V= 
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[image: image42.wmf]3

44

46485.33

33

ppp

=·=·=


5.

 
[image: image43.wmf]3

3

4

4500

3

3375

15

r

r

r

pp

=·

=

=


6. SA=
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	1. No:
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[image: image48.wmf]2

434936

ppp

===


  SA
[image: image49.wmf]2

46436144

ppp

===


2. No:
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3. SA
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The surface area becomes less than half of what it was.

4. 
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The volume becomes less than half of what it was.
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Diameter = 18.8 cm
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